HER

BiAE A TLRY T fELA—I/L:1.2.3.4.5.6.7.8.9
WiS—Hy b, NUTLER : BH36. &40, By b ERF LA ouT *, k ok ok ok ok
I N *, k%, koK ok
2023%1H48 (K)
NAME GROSS| H'cp NET NAME GROSS| H'cp NET NAME GROSS | H'cp NET
A 5 80 | 9.6 70.4 [49|EEFE BIZE 98 (228|752 |97 |FEH AS 84| 60 78.0
28 F Z==kE| 18| 7.270.8 |50 {FHE £ % 92 (168|752 |8 |FE 4 & —| 101 22.8 | 78.2
Sk == ) 8 168 | 71.2 |51 FJIl F x| 8 | 9.6 | 75.4 |9 |0 Ik 51100 | 21.6 | 78.4
slhE F =[] 88 (168 71.2 |52 F5E Z i 97 |21.6 | 75.4 [100/ch A F0F| 94 |15.6 | 78.4
5 EEE E M 88 (168 71.2 |3 |EEME = k| 97 [21.6]75.4(w01FE KBl 99 (204 78.6
6 Bk B F | 86 |14.4 | 71.6 |54 |{& B B 4| 102 | 26.4 | 75.6 |102 |IE B 2| 93 [14.4 ] 78.6
AR B 98 |26.4 | 71.6 [55|@ 3T fE 102 /2.4|75.6 (1035 H =k 87| 84| 78.6
8 lIN B 91 | 19.2 | 71.8 (56 |5E R B | 96 | 20.4 | 75.6 [104/BT H P =| 99 20.4| 78.6
B8O &= —| 85 (132 | 71.8 |57/ H #@ o4 | 84756 |105F FH £ 3= 105|264 | 78.6
0/ ME BE 9 [19.2]71.8 |58 /hvA  #E4t]| 108324 75.6 [106];E 3y Hx =] 104 | 25.2 ] 78.8
14 2/ 89 [16.8 ] 72.2 [59|F MEH E —| 9 |20.4|75.6 |107/Fy =& & & 92 [13.2| 78.8
RILE EA 92167240 FH FH=E[ 89 132]75.8[w08])IIl & = 97 180 79.0
132 B8 7/ 81 | 84172.6 |61 F5HE =—p&R 83 | 7.2/ 75.8 109/ 3 B2 k| 103240 79.0
“wileE HeE 86 |13.2]72.8 (6 4210 & k| 9 |180]76.0 |10/ KB H 3 115360 79.0
5B = H| 85 [120]73.0 |63 lu@E =4 9 180/ 76.0 [1n|gk @A & 5| 91 [120] 79.0
16/dk JIl & B 97 [ 24.0 | 73.0 | 64 E ARl 9% [18.0]76.0 (112|142 & BE HE| 9 |16.8 | 79.2
A E X 8 [120]73.0 |65 vy Fn | 88 [12.0] 76.0 (13| 7 P& 1T 96 | 16.8 | 79.2
18/H & =001 [18.0 73.0 (66| ¢ IFE BR| 88 [ 12.0 | 76.0 [114/{k B&E & Kk 95 (156 | 79.4
19| K=48 =i 90 (168 73.2 |67 |&v T BA | 94 [18.0 ] 76.0 |15/ &5 BF B 100 | 20.4 | 79.6
00 /hith =49 9 [16.8]73.2 [68|FHE i F 99 |228|76.2 |[116|BELE MF 105 25.2 | 79.8
AN B & 089 |15.6 | 73.4 |69 |3k JIl B &2 92 |15.6 | 76.4 |17 |Fp AL ERE% 105 | 25.2 | 79.8
2N = Z| 89 |15.6 | 73.4 [0 |12 R = 92 (156 | 76.4 (1181 @A £ = 9 |18.0 | 80.0
23 | % M| 101 1 27.6 | 73.4 |71 (B BE K1 F| 104 | 27.6 | 76.4 | 1198 L 2= | 103 | 22.8 | 80.2
K A HhT| 94 (204 73.6 |72 |BTEF & BE| 92 [15.6 | 76.4 |120/4F B 4% B%| 103 | 22.8 | 80.2
BIE M OfES 82| 8.4 73.6 |73 IETL| 92 156 | 76.4 [121|K JIl  F1F| 105 | 24.0 | 81.0
6 KE% EME 82 | 84 73.6 |7MAE FEX 92 156 76.4 |12k f2—| 98 16.8 81.2
27ZF E Bt 100 264 73.6 | 75 % B B 98 |21.6 | 76.4 |123|3E B E 97 156 | 81.4
8EE Hal 8 [144[73.6 76| K4 B —[103]264]76.6 [124/F )il BB & 103|216 81.4
NWAEE ZHZSF 9 192 73.8|77|EB FE| 97 [20.4]76.6 |125/EA)I FE| 109 | 27.6 | 81.4
0/F%F 2 M | 104 1300 74.0 |78 ()il & 58| 103 [26.4 | 76.6 |126|75 K B | 103 | 21.6 | 81.4
JNE M = 4| 92 180|740 |79 H B E 97 2.4 76.6 |12714 F ¥ 108 | 26.4 | 81.6
2042 10 # 5| 8 | 60| 74.0 [s0|HE FHEHEF 109 32.4)|76.6 |128 @ — = 101 19.2 | 81.8
33| & 2 —| 7400|740 |8 [JRE = F0 102 ]25.2 | 76.8 [129]3F B BB #f#| 106 [ 24.0 | 82.0
;T F 4 97 [22.8 ] 74.2 (82| & ¥ —| 90 |13.2|76.8 |10/43 > F0 FE| 105 | 22.8 | 82.2
35 |12k IREMR| 85 [10.8] 74.2 [83]iE & %) 102 | 25.2 | 76.8 | 131 |#k #0114 131.2 | 82.8
36ZE JI| #h T 9 |15.6 | 74.4 |64k B B2 k| 96 |19.2 | 76.8 |12/ K 3E & 108 [25.2 | 82.8
372 BE T RN 95 | 20.4 | 74.6 |85 AT BAER 102 | 25.2 | 76.8 |133|UfE A BHF| 119 | 36.0 | 83.0
BEHAB EA| 9% [20.4] 746 |66 |FFH B E 107300 77.0 |1345k ¥ SF| 111 1 27.6 | 83.4
398 IF i 89 |14.4 | 74.6 |87 |5 JF &R 76 | -1.2 | 77.2 |15\ 3T & 3¢ 115 (31.2 | 83.8
HOFFE FKF 106 31,2 748 |8 FTFT == 99 [21.6|77.4 |136|FF H 2 120 [ 36.0 | 84.0
41 B BB 88 [13.2| 74.8 |89 A4t EMHFE 105[27.6 | 77.4 (137K 48 H —| 113 1 28.8 | 84.2
2% 10 tEF 94 (192|748 |% |HF O B K| 98 [20.4|77.6 |[138/NE & F| 112 |27.6 | 84.4
3h A 2% 100 | 25.2 | 74.8 |91 |2 @ E IF| 110 [32.4 | 77.6 |139| K= ZEF 110|240 | 86.0
MFPEE HE 9192748 |2 )\ BrE|l 80| 24| 77.6 |140BE B 2 15| 109 | 22.8 | 86.2
45/ B B BEA| 87 [120 ] 75.0 (B /A E IE A| 98 (204 | 77.6 |141 ¥ E IE 18| 126 | 36.0 | 90.0
46 MHA £ T 93 180|750 % |JilE =BR 97 |19.2| 77.8 |42/ 14 EE A 131 [36.0 | 95.0
a7 E OB | 9 240 75.0 |95 B3 R 97 |19.2]77.8
48|85 K IF ¥ 92 (168 | 75.2 |96 |/ " BERK| 97 [19.2 | 77.8
XIBREAFEDHFITEZNSSNVET




